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HYDROGEN

Position Of Hydrogen Atom In The Periodic Table

1. Which of the following pairs will not produce

dihydrogen gas ?

A.Cu + HCI(dil)

B.Fe + H2504


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OazkDLs0LOMV

C. Mg + steam

D. Na + alcohol

Answer: A

o Watch Video Solution

2. Hydrogen is not obtained when zinc reacts with

A. Cold water

B. Hot NaOH solution

C. Conc. Sulphuric acid

D. dilute HC


https://dl.doubtnut.com/l/_OazkDLs0LOMV
https://dl.doubtnut.com/l/_kscqHH6qdast

Answer: C

° Watch Video Solution

3. Water cannot act as :

A. oxidant

B. hydrolytic agent

C. hydrogenating agent

D. reductant

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kscqHH6qdast
https://dl.doubtnut.com/l/_o0JoLaqbqhK2
https://dl.doubtnut.com/l/_2vA41hnuytFn

4. Ortho-hydrogen and para-hydrogen resemble in which

of the following property

A. Thermal conductivity

B. Magnetic properties

C. Chemical properties

D. Heat capacity

Answer: C

° Watch Video Solution

5. Which element forms maximum compound

chemistry ?


https://dl.doubtnut.com/l/_2vA41hnuytFn
https://dl.doubtnut.com/l/_PgGlpbyPs5iT

A O

B. H

C. St

D.C

Answer: b

o Watch Video Solution

6. One of the following is an incorrect statement. Point

out the incorrect one.

A. H,O, decomposes rapidly in presence of MnQO,


https://dl.doubtnut.com/l/_PgGlpbyPs5iT
https://dl.doubtnut.com/l/_hl2C7Wof2xs6

B.lce at its melting point is lighter than water

because ice crystals have hollow hexagonal

arrangement of H,O molecules

C. D50 will have maximum density at 11.5° C.

D. Water gas contains greater proportion of CO than

that of H,

Answer: D

° Watch Video Solution

7. Which of the following produces hydrolith with

dihydrogen ?


https://dl.doubtnut.com/l/_hl2C7Wof2xs6
https://dl.doubtnut.com/l/_z9RW3T8tt8HJ

A. Mg

B. Al

C.Cu

D.Ca

Answer: D

o Watch Video Solution

8. Hydrogen has the tendency to gain one election to
acquire helium configuration, in this respect, it

resembles:

A. Halogen


https://dl.doubtnut.com/l/_z9RW3T8tt8HJ
https://dl.doubtnut.com/l/_mPahAB6THnal

B. Alkali metals

C. Chalcogens

D. Alkaline earth metals

Answer: A

° Watch Video Solution

9. Hydrogen molecule differs from chlorine molecule in

the following respect :

A. hydrogen molecule is non — polar but chlorine

molecule is polar.


https://dl.doubtnut.com/l/_mPahAB6THnal
https://dl.doubtnut.com/l/_IUzBgcm98ILA

B. hydrogen molecule is polar while chlorine molecule

isnon — polar.

C.hydrogen molecule can form intermolecular

hydrogen bonds but chlorine molecular does not.

D. hydrogen molecule cannot participate in

coordinate bond formation but chlorine molecule

can.

Answer: d

° Watch Video Solution

10. Hydrogen is :


https://dl.doubtnut.com/l/_IUzBgcm98ILA
https://dl.doubtnut.com/l/_Bmd1VPz5Ufy3

A. electropositive

B. electronegative

C. both electropositive and electronegative

D. neither electropositive nor electronegative.

Answer: C

° Watch Video Solution

11. The property of hydrogen which distinguishes it from

alkali metals is

A. Its electropositive character

B. Its affinity for non — metal


https://dl.doubtnut.com/l/_Bmd1VPz5Ufy3
https://dl.doubtnut.com/l/_Gt0UAjULaoFC

C. Its reducing character

D. Its non — metallic character

Answer: D

o Watch Video Solution

12. The possible form of Hs molecule on the basis of

three isotopes can be:

A3

B.6

C.9

D. 12


https://dl.doubtnut.com/l/_Gt0UAjULaoFC
https://dl.doubtnut.com/l/_d7HEYM2TRdtC

Answer: b

° Watch Video Solution

13. The composition of tritium is

A.1electron, 1 proton, 1 neutron

B. 1 electron, 2 protons, 1 neutron

C.1electron, 1 proton, 2 neutron

D. 1 electron, 1 proton, 3 neutrons

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_d7HEYM2TRdtC
https://dl.doubtnut.com/l/_dvq0ispiZJs8
https://dl.doubtnut.com/l/_5tVFkWvYO0qX

14. What is the sum of protons, electrons and neutrons

in the heaviest isotope of hydrogen?

A.6

B.5

C. 4

D.3

Answer: c

o Watch Video Solution

Section A Hydrogen


https://dl.doubtnut.com/l/_5tVFkWvYO0qX

1.In all its properties, hydrogen resembles :

A. alkali metals only.

B. halogens only.

C. both alkali metals and halogens.

D. neither alkali metals nor halogens.

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_ENuAw4OzK6nR

1. What is the sum of protons, electrons and neutrons in

the lightest isotope of hydrogen?

A3

B.5

C.2

D.6

Answer: C

o Watch Video Solution

2.In context with the industrial preparation of hydrogen

from water gas (CO + H,) , which of the following is


https://dl.doubtnut.com/l/_wmFgrDWnmJKd
https://dl.doubtnut.com/l/_iBhfxsk2FITI

the correct statement ?

A. CO is oxidised to CO5 with steam in the presence
of a catalyst followed by absorption of C'O, in
alkali

B.CO and H, are fractionally separated using
difference in theire densities

C. CO is removed by absorption in aqueous CuyCl,

D.CO is removed by absorption in aqueous

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_iBhfxsk2FITI

3. Abundance of Hy in the earth's atmosphere is very

small. This is because

A.The earth's gravitation fiels is too small to hold so

light an element.

B. H, exists in ortho and para form

C. H, is diatomic gas

D. H5 is not a metal

Answer: d

° Watch Video Solution

4. Hydrogen directly combines with


https://dl.doubtnut.com/l/_63iTo1ZUeZD6
https://dl.doubtnut.com/l/_gy5eKZDmhy2G

A Au

B.Cu

C. N3

D.Ca

Answer: d

o Watch Video Solution

5. Hydrogen does not combine with

A. helium

B. bismuth

C. antimony


https://dl.doubtnut.com/l/_gy5eKZDmhy2G
https://dl.doubtnut.com/l/_JhT7LPNEN7WJ

D. sodium

Answer: A

° Watch Video Solution

6. Which of the following statements concerning

protium, deuterium and tritium is not true ?

A. They are isotopes of each other.

B. They have similar electronic configurations

C. They exist in the nature in the ration 1: 2: 3.

D. Their atomic masses are in the ration 1: 2: 3.

Answer: c


https://dl.doubtnut.com/l/_JhT7LPNEN7WJ
https://dl.doubtnut.com/l/_Kqn1Xc8FIpQJ

° Watch Video Solution

7. Pick out the correct statement

A.By decreasing the temperature pure para

hydrogen can be obtained

B.By increasing the temperature pure ortho

hydrogen can be obtained

C.By decreasing the temperature pure ortho

hydrogen can be obtained

D.By increasing the temperature pure para

hydrogen can be obtained


https://dl.doubtnut.com/l/_Kqn1Xc8FIpQJ
https://dl.doubtnut.com/l/_m0IqImEI4CFr

Answer: b

° Watch Video Solution

8.The ratio C,, / C,, for Hy is

A.1.40
B.1.67
C.1.33

D. None of these

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_m0IqImEI4CFr
https://dl.doubtnut.com/l/_NsDSeSKgssWx
https://dl.doubtnut.com/l/_T1aFlRvINK5K

9. Among CaH,, NH;, NaH and BsHg which are

covalent hydrides?

A. NH3 and BQHG

B. NaH and CaH,

C. NaH and NHjy

D.CaH, and By H,

Answer: A

o Watch Video Solution

10. Which one is not an isotope of hydrogen ?


https://dl.doubtnut.com/l/_T1aFlRvINK5K
https://dl.doubtnut.com/l/_gOepBFo1qOYH

A. Tritium

B. Deuterium

C. Ortho hydrogen

D. None of these

Answer: C

o Watch Video Solution

11. Deuterium differs from hydrogen ?

A. Chemical properties

B. Physical propertis

C. Both physical and chemical properties


https://dl.doubtnut.com/l/_gOepBFo1qOYH
https://dl.doubtnut.com/l/_sH2EdicKwqkA

D. Radioactive properties

Answer: b

o Watch Video Solution

12. Which of the following reaction produces hydrogen ?

A. H,S0,05 + H,0

B. BaO + HCI

D. Na202 + 2HCI

Answer: c

[ o Wiakl . \nNdaa Caliidkiam


https://dl.doubtnut.com/l/_sH2EdicKwqkA
https://dl.doubtnut.com/l/_kBncGiOcpCmL

L —  VYvdlilll VIUCTV JVIuULiVII )

13. The oxidation states exhibites by hydrogen in its

various compounds are :

A. —1only

B. Zero only

C.+1, — 1 and zero.

D. +1 only.

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_kBncGiOcpCmL
https://dl.doubtnut.com/l/_h5WIKbAg8cb3

14. In Bosch's process, which gas is utilised for the

production of hydrogen gas

A. Producer gas

B. Water gas

C. Coal gas

D. None of these

Answer: b

o Watch Video Solution

15. In which of the following compounds does hydrogen

have an oxidation state of —1?


https://dl.doubtnut.com/l/_dOLQnlbMxDA0
https://dl.doubtnut.com/l/_QtPJBOjc20oC

A PH,

B. NH;

C.HCI

D. CCI,HQ

Answer: d

° Watch Video Solution

16. Under what conditoin of temperature and pressur the
formation of atomic hydrogen from molecular hydrogen

will be favoured most ?

A. High temperature and high pressure


https://dl.doubtnut.com/l/_QtPJBOjc20oC
https://dl.doubtnut.com/l/_ghhcCnvvToBE

B. Low temperature and low pressure

C. High temperature and low pressure

D. Low temperature and high pressure

Answer: C

° Watch Video Solution

17. Which of the following could act as a propellant for

rockets ?

C. Liq. Hy + Liq. N,


https://dl.doubtnut.com/l/_ghhcCnvvToBE
https://dl.doubtnut.com/l/_NI1qtle7KbcN

D. Liq. Oy + Liq. Ar

Answer: a

° Watch Video Solution

18. Hydrogen is evolved the action of cold dilute HNO;

on :

A Fe

B. Mg or Mn

C.Cu

D. Al

Answer: B



https://dl.doubtnut.com/l/_NI1qtle7KbcN
https://dl.doubtnut.com/l/_Fj5JcgTdtlrI

o Watch Video Solution

19. Hydrogen acts as an oxidising agnet in the reaction

with :

A. bromine

B. calcium

C. nitrogen

D. sulphur

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Fj5JcgTdtlrI
https://dl.doubtnut.com/l/_RGjbQ032SisK

20. Hydrogen combines with other elements by

A. Losing an electron

B. Gaining an electron

C. Sharing an electron

D. Losing, gaining or sharing electron

Answer: D

o Watch Video Solution

21. Hydrogen can be produced by heating

A. Cu with H, SO,


https://dl.doubtnut.com/l/_zJ9j4yuNTI46
https://dl.doubtnut.com/l/_U2xdP5HDxJlb

B. Sodium formate

C. Sodium oxalate

D. None of these

Answer: B

° Watch Video Solution

22. Which of the following explanation is best for not

placing hydrogen with alkali metals or halogen

A.The ionization energy of hydrogen is hight for

group of alkali metals or halogen

B. Hydrogen can form compounds


https://dl.doubtnut.com/l/_U2xdP5HDxJlb
https://dl.doubtnut.com/l/_ypUFnHjfaVFS

C. Hydrogen is a much lighter element than the alkali

metals or halogens

D. Hydrogen atom does not contain any neutron

Answer: c

° Watch Video Solution

23. Which of the halogen has maximum affinity for

hydrogen ?

A F,

B. Cl,

C. B’l"z


https://dl.doubtnut.com/l/_ypUFnHjfaVFS
https://dl.doubtnut.com/l/_HAogwFq14JrU

D. I,

Answer: a

° Watch Video Solution

24. Ortho and para hydrogen have :

A. identical chemical properties but different physical

properties

B. identical physical and chemical properties

C.identical physical properties but different chemical

properties

D. different physical and chemical properties


https://dl.doubtnut.com/l/_HAogwFq14JrU
https://dl.doubtnut.com/l/_qBZaSps2V5yQ

Answer: a

° Watch Video Solution

25. Hydrogen acts as a reducing agent and thus

resembles

A. Halogen

B. Noble gas

C. Radioactive elements

D. Alkali metals

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_qBZaSps2V5yQ
https://dl.doubtnut.com/l/_5PXyw9kW861l

26. Which position for hydrogen explain all its properties

?
A. At the top of halogen
B. At the top of alkali metals
C. At the top of carbon family
D. None of these

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_5PXyw9kW861l
https://dl.doubtnut.com/l/_HoUvS11ZVsDS

27. The metal which displaces hydrogen from a boiling

caustic soda solution is :

A. Mg

B. Fle

C. As

D. Zn

Answer: d

° Watch Video Solution

28. Which of the following metals adsorbs hydrogen ?


https://dl.doubtnut.com/l/_KyZHyqJjt3ek
https://dl.doubtnut.com/l/_9earJLBUd5W9

A Zn

B. Pd

C. Al

D. K

Answer: b

o Watch Video Solution

29. Very pure hydrogen (99.9 % ) can be made by which

of the following processes ?

A. Mixing natureal hydrocarbons of high molecular

weight


https://dl.doubtnut.com/l/_9earJLBUd5W9
https://dl.doubtnut.com/l/_mHOtCb4nOYV0

B. Electrolysis of water

C. Reaction of salt like hydrides with water

D. Reaction of methane with steam

Answer: b

° Watch Video Solution

30. Hydrogen readily combines with non — metals and
thus it shows its
A. Electronegativity character

B. Electropositive character

C.Bothe (a) and (b)


https://dl.doubtnut.com/l/_mHOtCb4nOYV0
https://dl.doubtnut.com/l/_w8bC77TBvwQZ

D. None of these

Answer: b

o Watch Video Solution

31. The radioactive isotopes of hydrogen is :

A. Tritium

B. Deuterium

C. para hydrogen

D. nascent hydrogen

Answer: a

[ o Wiakl . \NnNdaa CaAliidkiam


https://dl.doubtnut.com/l/_w8bC77TBvwQZ
https://dl.doubtnut.com/l/_veMZU54SVpUk

L —  VYvdlilll VIUCTV JVIuLiVII

32. Metal hydride on treatment with water gives :

A. H202

B. H,O

C. acid

D. hydrogen

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_veMZU54SVpUk
https://dl.doubtnut.com/l/_rybJRy3nlPjC

33. Which of the following pair of substances will not

evolve Hy gas

A. Fe and H,SOy4( aqueous )
B. Copper and HCI( aqueous )
C. Sodium and ethyl alcohol

D. Iron and steam

Answer: B

o Watch Video Solution

34. When a substance A reacts with water it produces a

conbustible gas B and a solution of substance C in


https://dl.doubtnut.com/l/_5QQ3u53ViXVK
https://dl.doubtnut.com/l/_QJsSSFXMVRLZ

water. When another substance D reacts with this
soution of C, it also produces the same gas B on
warming but D can produce B on reaction with dilute
sulphuric acid at room temperature. B on reaction with
dilute sulphuric acid at room tempreture. A imparts a
golden yellow colour to a smokeless flame of bunsen

flame. A, B, C'and D are respectively.

A. Na, Hy, NaOH, Zn
B. K, H,, KOH, Al
C.Ca, Hy, Ca(OH),, Sn

D. CG,CQ, CQHQ, CCL(OH)2, Fe

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_QJsSSFXMVRLZ

35. Free hydrogen is found in

A. Water gas

B. Marsh gas

C. Water

D. Acids

Answer: A

° Watch Video Solution

36. Hydrogen resembles in many of its properties :


https://dl.doubtnut.com/l/_QJsSSFXMVRLZ
https://dl.doubtnut.com/l/_lWJOMJr4YZhv
https://dl.doubtnut.com/l/_EXMITjcsDn5o

A. halogen
B. Alkali metals
C. both (a) and (b)

D. none of these

Answer: C

° Watch Video Solution

37. Boron with hydrogen forms a number of hydrides
which are known are boranes. These hydrides are
classified into closoboranes and nidobarances. The
simplest hydride of boron is diborane. Boron apart from

having (2c¢, 2e) bonds also contain (3¢, 2e) bonds.


https://dl.doubtnut.com/l/_EXMITjcsDn5o
https://dl.doubtnut.com/l/_tWfRYT1ZhbNU

Which of the following is an electron-deficient

compound ?

A.NaH

B. CCLHZ

C.CH,

D. B, Hy

Answer: D

o Watch Video Solution

38. When the same amount of zinc is treated separately
with excess of H,SO, and excess of NaOH, the ratio of

volumes of H, evolved is:


https://dl.doubtnut.com/l/_tWfRYT1ZhbNU
https://dl.doubtnut.com/l/_QPcquA60wNUa

Al:1

B.1:2

C.2:1

D.9:4

Answer: A

o Watch Video Solution

39. Hydrogen from HC' can be prepared by

A Mg

B.Cu

C.P


https://dl.doubtnut.com/l/_QPcquA60wNUa
https://dl.doubtnut.com/l/_cbUOpzaikDYQ

D. Pt

Answer: a

° Watch Video Solution

40. Hydrogen accepts an electron to form inert gas

configureation, it resmebles .............

A. Halogen

B. Alkali metals

C. Chalcogens

D. Alkaline earth metals

Answer: a


https://dl.doubtnut.com/l/_cbUOpzaikDYQ
https://dl.doubtnut.com/l/_dDvH0uAt4LOz

o Watch Video Solution

41. Action of water or dilute mineral acdis on metal can

give :

A. monohydrogen

B. tritium

C.dihydrogen

D. trihydrogen

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_dDvH0uAt4LOz
https://dl.doubtnut.com/l/_IbzBOK94mWJp

42. Which pair does not show hydrogen isotopes?

A. Ortho hydrogen and para hydrogen

B. Protium and deuterium

C. Deuterium and tritium

D. Tritium and protium

Answer: A

o Watch Video Solution

43. Water gas is :

A.CO + N,


https://dl.doubtnut.com/l/_1GlHX8Kpx5eh
https://dl.doubtnut.com/l/_mOCjJ9PQ19Hh

B.CO + CO, + CH,

C.CO, + H,

D.CO + H,

Answer: d

o Watch Video Solution

44, Which of the following has the highest proton
affinity ?

A. Stibin (SbH3)

B. Arsinie (AsHj)

C. Phosphie (PHj3)


https://dl.doubtnut.com/l/_mOCjJ9PQ19Hh
https://dl.doubtnut.com/l/_NjcZbimt7qla

D. Ammonia(NH3)

Answer: D

° Watch Video Solution

45. Which of the following is the correct order of

increasing enthalpy of vaporisation ?

A. NHg < PH3 < ASH3

B.ArH; < PH; < NH;

C. PH3 < ASHg < NH3

D. NH3 < A8H3 < PH3

Answer: C


https://dl.doubtnut.com/l/_NjcZbimt7qla
https://dl.doubtnut.com/l/_nGjaOF84YwIw

o Watch Video Solution

46. Ortho and para hydrogen differn in

A. Proton spin

B. Electron spin

C. Nuclear charge

D. Nuclear reaction

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nGjaOF84YwIw
https://dl.doubtnut.com/l/_xHoTjGrFwzvH

47. Hydrogen gas is not liberated when the following

metal is added to dil. HCI:

A Mg

B.Sn

C.Ag

D. Zn

Answer: c

° Watch Video Solution

48. Hydrogen acts as an oxidising agent in the reaction

with :


https://dl.doubtnut.com/l/_jf3fI3Wu2NF0
https://dl.doubtnut.com/l/_phYynJIg2X5W

A. BT‘2

B.Ca

D.S

Answer: b

° Watch Video Solution

49. Out of the following metals which will give Hy on
reaction with NaOH :
I:Zn, II: Mg,

III: Al, IV : Be


https://dl.doubtnut.com/l/_phYynJIg2X5W
https://dl.doubtnut.com/l/_EAi0o2Y4fVQn

AT II,III, IV

B.I, III, IV

C.II1, IV

D. I, ITT

Answer: B

o Watch Video Solution

1. Which is true statement about D,O and H,O ?

A. D50 has lower dielectric constant than H,O


https://dl.doubtnut.com/l/_EAi0o2Y4fVQn
https://dl.doubtnut.com/l/_lkxMkNQi6R4k

B. NaCl is more soluble in D50 than in H,O

C. Both are correct

D. None of these

Answer: A

° Watch Video Solution

2. Action of water or dilute mineral acdis on metal can

give :

A. monohydrogen

B. Tritium

C.dihydrogen


https://dl.doubtnut.com/l/_lkxMkNQi6R4k
https://dl.doubtnut.com/l/_n23pazZq5UlG

D. Trihydrogen

Answer: c

° Watch Video Solution

3. Which of the following pairs consists of moplecular

having the same mass number?

A. HzO and DzO

B. H,O and HT' O

C. D>,O and HTO

D. DTO and HDO

Answer: c


https://dl.doubtnut.com/l/_n23pazZq5UlG
https://dl.doubtnut.com/l/_sIkYQIhYOloS

o Watch Video Solution

4. The critical temperature of water is higher than that

of Oy because the H,O molecule has

A. fewer electrons than oxygen

B. two covalent bonds

C.V — shape

D. dipole moment

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sIkYQIhYOloS
https://dl.doubtnut.com/l/_mJ7GnzS3tKhp

5. Triple point of water is

A 273K

B. 373K

C. 203K

D. 193K

Answer: a

o Watch Video Solution

6. Deuteroammonia (N Dj3) can be prepared :

A. be heating a solution of NH,Cl in NaOD


https://dl.doubtnut.com/l/_22s5lVrP33S5
https://dl.doubtnut.com/l/_BvIIuesoJWHi

B. by action of heavy water on magnesium nitride

C. by fractionation of ordinary ammonia

D. None of these

Answer: B

° Watch Video Solution

7. The temporary hardness of water due to calcium

bicarbonate can be removed by adding

A. CCLCO?,
B.Ca(OH),

C.CaS0,


https://dl.doubtnut.com/l/_BvIIuesoJWHi
https://dl.doubtnut.com/l/_wenU2njvoI3V

D. HCI

Answer: B

° Watch Video Solution

8. Which of the following acid is formed when SiF}

reacts with water ?

A SiF,

B. H,SiF,

C. HySO,

D. H,SiFy

Answer: B


https://dl.doubtnut.com/l/_wenU2njvoI3V
https://dl.doubtnut.com/l/_0nBBmaLbUmZM

o Watch Video Solution

9. Which of the following pair of ions makes the water
hard ?

A.Na™, SO;~

B.Ca®™, HCO;

C.Ca®", NO;

D.NH,",Cl~

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_0nBBmaLbUmZM
https://dl.doubtnut.com/l/_E7r2GEF3I80w

10. The bond angle and dipole moment of water

respectively are :

A.109.5°,1.84D

B.107.5°, 1.56D

C.104.5°,1.84D

D.102.5°, 1.56D

Answer: C

° Watch Video Solution

11. Water contracts on heating :


https://dl.doubtnut.com/l/_1Ty7Vw2CicMt
https://dl.doubtnut.com/l/_5N4h2GW7nuWN

A.to 100°C

B. from 107 C to 20°C

C.to 273K

D.from0°Cto4°C

Answer: d

o Watch Video Solution

12. Pure water can be obtained from sea water by

A. Centrifugation
B. Plasmolysis

C. Reverse osmosis


https://dl.doubtnut.com/l/_5N4h2GW7nuWN
https://dl.doubtnut.com/l/_tFPtzeb69fVQ

D. Sedimentation

Answer: C

° Watch Video Solution

13. Which is false about ice?

A. It has open cage like structure.

B. It has less density than water.

C. Each O atom is surrounded by four H atoms.

D. Each O atom has four H — bonds around it.

Answer: D

I o Wiakl. \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_tFPtzeb69fVQ
https://dl.doubtnut.com/l/_Ydqie5WwqiTI

L —  VYvdlilll VIUCV JViIuLivii J

14. Which one of the following reactions represents

water — gas shift reaction 7

672K
A.CO(g) + H,O(g) ——— CO, + H,

Iron chromatic

B.C(g) + Hy0 25 CO(g) + Hy

1270K
C. CHy(g) + H,0(g) —- CO(g) + 3H,(g)

D. None of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_Ydqie5WwqiTI
https://dl.doubtnut.com/l/_DuBj0lYt0P2E

15. A variety of water which contains solutble salts of Ca

and Mg is known as :

A. heavy water

B. soft water

C. hard water

D. conductivity water

Answer: C

° Watch Video Solution

16. Which will produce hard water ?


https://dl.doubtnut.com/l/_j7L8poRnKUi5
https://dl.doubtnut.com/l/_gz9wLzSbSyEA

A. Saturation of water with Ca SO,

B. Addition of NaSO- to water

C. Saturation of water with CaCOj;

D. Saturation of water with MgCO;

Answer: a

° Watch Video Solution

17. The alum used for purifying water is

A. Ferric alum

B. Chrome alum

C. Potash alum


https://dl.doubtnut.com/l/_gz9wLzSbSyEA
https://dl.doubtnut.com/l/_cdGOhHKljPhg

D. Ammonium alum

Answer: C

o Watch Video Solution

18. Temporary harness of water of due to the presence of

A. MgSO4
B. Mg(HCOQ,)Q
C. CaCl2

D. CaCO3

Answer: b

[ o Wiakl . \NnNdaa Caliidkiam ]



https://dl.doubtnut.com/l/_cdGOhHKljPhg
https://dl.doubtnut.com/l/_JNT53wOrsBF2

L —  VYvdlilll VIUCTV JVIuLiVII J

19. Metal which does not react with cold water but

evolves H, with steam is :

A. Fe

B. K

C. Pt

D. Na

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JNT53wOrsBF2
https://dl.doubtnut.com/l/_kGMC7hzjD4so

20. Which of the following is not true ?

A.Hardness of water depends on its behaviour

towards soap

B. The temporary hardness is due to the presence of

soluble C'a and Mg bicarbonates

C. Permanent hardness is due to the presence of

soluble Ca and Mg sulphate , chlorides and

nitrates

D. Permanent hardness can be removed by boiling

the water

Answer: D



https://dl.doubtnut.com/l/_iaYsSiVGALr6

\ o Watch Video Solution

21. Which of the following will cause softening ofhard

water ?

A. Passing it through cation exchange resin

B. Passing it through anion exchange resin

C. Passing it through sand

D. Passing it through alumina

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_iaYsSiVGALr6
https://dl.doubtnut.com/l/_ygiGtkufVJpL

22. Polyphosphates are used for softening agents

because they

A. form soluble complexes anionic species

B. precipitate anionic species

C. form soluble complexes with cationic species

D. precipitate cationic species

Answer: c

o Watch Video Solution

23. Which one of the following removes temporary

harness of water ?


https://dl.doubtnut.com/l/_FZMuFjU03hRH
https://dl.doubtnut.com/l/_Ptg6mumnf4M6

A. Slaked lime

B. Plaster of Paris

C. Cuprous

D. Hydrolith

Answer: A

o Watch Video Solution

24. The reagent commonly used to determine hardness

of water titrimetrically is :

A. oxalic acid

B. disodium salt of EDT A


https://dl.doubtnut.com/l/_Ptg6mumnf4M6
https://dl.doubtnut.com/l/_fsYN5m1CJQDI

C.sodium citrate

D. sodium thiosulphate

Answer: b

o Watch Video Solution

25. The temporary hardness of water due to calcium

bicarbonate can be removed by adding

A.Ca(OH),
B. CCLCO?,
C. CGSO4

D. Na2504


https://dl.doubtnut.com/l/_fsYN5m1CJQDI
https://dl.doubtnut.com/l/_IZO2AnsyfBXb

Answer: A

o Watch Video Solution

26. Lead pipes are not used for carrying drinking water

because

A. They are covered with a coating of lead carbonate

B. They are corroded by air and moisture

C.Water containing dissolved air attacks lead

forming soluble hydroxide

D. None of these

Answer: C



https://dl.doubtnut.com/l/_IZO2AnsyfBXb
https://dl.doubtnut.com/l/_a4v1J4ACsb6H

I ° Watch Video Solution

27. Select the correct statement for heavy water.

A. It is less denser than common water

B. It is an oxide of deuterium

C. It has a heavy or bad taste

D. It has a heavier isotope of oxygen

Answer: b

° Watch Video Solution

28. Alkali metal hydrides react with water to give


https://dl.doubtnut.com/l/_a4v1J4ACsb6H
https://dl.doubtnut.com/l/_nztBsgZqD8Or
https://dl.doubtnut.com/l/_j4mpaP9ZkZWH

A. Acidic solution

B. Basic solution

C. Neutral solution

D. Hydride ion

Answer: B

o Watch Video Solution

29. Which of the following is not true ?

A. Ordinary water is electrolysed more rapidly that

D,O


https://dl.doubtnut.com/l/_j4mpaP9ZkZWH
https://dl.doubtnut.com/l/_LrumlrEz8iXq

B. Reaction between H, and Cl5 is much faster than

D2 and Clz

C. D50 freezes at lower temperture than H,O

D. Bond dissociation energy for D, is greater than

H,y

Answer: c

° Watch Video Solution

30. Chemical (X) is used for water softening to remove
temporary hardness. (X) reacts with sodium carbonate
to generate caustic soda. When CO, is bubbled through

(X)?


https://dl.doubtnut.com/l/_LrumlrEz8iXq
https://dl.doubtnut.com/l/_wGRSaip1giUJ

A. CCLCOg
B. CaO
C.Ca(OH),

D. CCI,(HCOg)z

Answer: C

° Watch Video Solution

31. Heavy water is used in nuclear reactors as

A. source of « particles.

B. slowing doen the speed of high energy neutrons.

C. transporting heat of the reactor.


https://dl.doubtnut.com/l/_wGRSaip1giUJ
https://dl.doubtnut.com/l/_sT7eZQvhqo2C

D. heating purposes.

Answer: B

° Watch Video Solution

32. Whivh of the following is not a hard water ?

A. Water containing CaCl,

B. Water containing dil. HC

C. Water containing MgSO,

D. None of these

Answer: d

I o Wiakl . \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_sT7eZQvhqo2C
https://dl.doubtnut.com/l/_xb0z1oRh73Dq

L —  VYvdlilll VIUCTV JViIuLiVII

33. The molarity of pure water at 4° C'is

A 1M

B.2.5M

C.bM

D. 55.5M

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_xb0z1oRh73Dq
https://dl.doubtnut.com/l/_JIco1MB2Qscq

34. Water is said to be permanently hard when it

contains :

A. Chloride and sulphates of Mg and Ca

B. Bicarbonates of Na and K.

C. Carbonates of Na and K

D. Phosphate of Na and K.

Answer: a

o Watch Video Solution

35. When temporary hard water containing

Mg(HCOs), is boiled, the ppt. formed is of


https://dl.doubtnut.com/l/_14cIucQbK8Y0
https://dl.doubtnut.com/l/_qU38GZYZX1W1

A MgCO3
B. MgO
C. Mg(OH),

D. None of these

Answer: C

o Watch Video Solution

36. Permanent hardness due to Mg®" ions is best

removed by

A.Ca(OH),

B. NG,QCOg


https://dl.doubtnut.com/l/_qU38GZYZX1W1
https://dl.doubtnut.com/l/_supD32IdjWxY

C. NayCO; + Ca(OH),

D. None of these

Answer: C

° Watch Video Solution

37. Heavy wateris compound of :

A. hydrogen and heavier isotope of oxygen.

B. heavier isotope of hydrogen and heavier isotope of

oxygen.

C. oxygen and heavier isotope of hydrogen.

D. None of these


https://dl.doubtnut.com/l/_supD32IdjWxY
https://dl.doubtnut.com/l/_haTtevuicI10

Answer: C

o Watch Video Solution

38. Whichh of the following is correct about heavy water
?
A. Water at 4° C having maximum density is known
as heavy water
B. It is heaving than water (H,0)
C. It is formed by the combination of heavy isotope of
hydrogen and oxygen

D. None of these


https://dl.doubtnut.com/l/_haTtevuicI10
https://dl.doubtnut.com/l/_wpgZ8EMpeKA5

Answer: B

° Watch Video Solution

39. Which of the following statements do not define the

characteristic property of water Water is a universal

solvent ?

A. It can dissolve maximum number of compounds

B. It has very low dielectric constant

C. It has high liquid range

D. None of these

Answer: B

| = |


https://dl.doubtnut.com/l/_wpgZ8EMpeKA5
https://dl.doubtnut.com/l/_IyP0u2xJdi6b

l & Watch Video Solution J

40. Which of the followign is used as a moderator in

nuclear reactors ?

A. Ordinary water

B. Heavy water

C. hard water

D. Hydrogen peroxide

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IyP0u2xJdi6b
https://dl.doubtnut.com/l/_fEB4QQF3OElZ

41. By adding which of the following process, permanent

hardness of water can be removed.

A. Sodalime

B. Sodium bicarbonate

C. Washing soda

D. Sodium chloride

Answer: c

o Watch Video Solution

42. Hardness producing salt, whose solubility in water

decreases with rise of temperature is


https://dl.doubtnut.com/l/_4vBSaP8xVz6j
https://dl.doubtnut.com/l/_nWTHhZbxTgm3

A. CGClz
B. CCLSO4
C.Ca(HCO;),

D. MgSO4

Answer: B

o Watch Video Solution

43. Molecular weight of heavy water is

A.19

B.18

C.17


https://dl.doubtnut.com/l/_nWTHhZbxTgm3
https://dl.doubtnut.com/l/_X9Yeumxq9qaP

D. 20

Answer: D

° Watch Video Solution

44. The bond angle and dipole moment of water

respectively are :

A.109.5°,1.84D

B.107.5°, 1.56D

C.104.5°,1.84D

D.102.5°, 1.56D

Answer: c


https://dl.doubtnut.com/l/_X9Yeumxq9qaP
https://dl.doubtnut.com/l/_QKgUdQWYRKHe

o Watch Video Solution

45, Of the two solvent H,O and DO, NaCl dissolves

A. Equally in both the solvents
B. Only in H,O but remains insoluble in D50
C. More in DO

D. More in H,O

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_QKgUdQWYRKHe
https://dl.doubtnut.com/l/_SEt5XMXQtErS

46. When zeolite, which is hydrated sodium aluminium
silicate is treated with hard water, the sodium ions
(Na@) are exchanged with

A.OH ~ ions

B. SOi_ions

C.Ca’" ions

D.H ™ ions

Answer: C

° Watch Video Solution

47. Which of the following metal will not reduce H,O ?


https://dl.doubtnut.com/l/_J2i2GxLd6DZ2
https://dl.doubtnut.com/l/_0DOhipscrAHr

A.Ca

B. Fle

C.Cu

D. Ls

Answer: c

o Watch Video Solution

48.The H — O — H angle in water molecule is about

A.90°

B.180°

C.102°


https://dl.doubtnut.com/l/_0DOhipscrAHr
https://dl.doubtnut.com/l/_G9nNxZwSX2iN

D. 105°

Answer: D

° Watch Video Solution

49. Two ice cubes are pressed over each other and unite

to form one cube . Which force is responsible of holding

them together ?

A. Hydrogen bond formation

B. Van der Waals forces

C. Covalent attraction

D. lonic interaction


https://dl.doubtnut.com/l/_G9nNxZwSX2iN
https://dl.doubtnut.com/l/_varrX9yBkKgh

Answer: a

° Watch Video Solution

50. Water obtained by purification with organic ion

exchange resins is

A. Pure water

o _|_ ’Mg2+

B. Free from only Ca ions

C.Free from HCO; , SOZ_ and Cl™ ions only

D. None of these

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_varrX9yBkKgh
https://dl.doubtnut.com/l/_5n07xyUdq5D8

51. Which of the following can effectively remove all

types of hardness of water?

A. Soap

B. Washing soda

C. Slaked lime

D. None of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_5n07xyUdq5D8
https://dl.doubtnut.com/l/_wevcz18IbHRC

52. The correct order of stability of hydrides of alkali

metals is

A.L:H > NaH > KH > RbH

B.RbH > KH > NaH > LiH

C. BCLHQ > S’I”HQ > CCLHQ

D. None of these

Answer: a

° Watch Video Solution

53. Point out the incorrect statement


https://dl.doubtnut.com/l/_LXBt1BhXOiIe
https://dl.doubtnut.com/l/_eJfyCHDV9RXx

A.Hardness of water depends upon its soap

consuming power

B. Temporary hardness is due to bicarbonates of

calsium and magnesium

C. Permanent hardness is due to soluble sulphates,

chlorides and nitrates of Ca and Mg

D. Permanent hardness can be removed by boiling

water

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_eJfyCHDV9RXx

Hydrogen Peroxide

1. Which subtance cannot be reduced by H,O,

A. KM’I’LO4 /H2504
B. K20T207 /H2504
C. AggO

D. Fe3t

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fBEHQ6G5hwI2

2. Which of the following statements about H50, is not

true ?

A. H;O, is used to clean oil paintings

B. H,O, acts as oxidising as well reducing agent

C. Two hydroxyl groups in HyOs lie in the same plane

D. It retains same structure in liquid and solid form

Answer: c

° Watch Video Solution

3. The volume of oxygen liberated from 0.68g of HyO, is


https://dl.doubtnut.com/l/_2h2YaXYuGk1i
https://dl.doubtnut.com/l/_HvgBFnLcb46L

A.112ml

B. 224ml

C. 56ml

D. 336ml

Answer: B

o Watch Video Solution

4. The species that does not contain peroxide bond is

//are :

A. PbO,

B. H,O,


https://dl.doubtnut.com/l/_HvgBFnLcb46L
https://dl.doubtnut.com/l/_9AgbBVotv33D

C. ST'02

D. BCL02

Answer: a

o Watch Video Solution

5. H,O, acts as an oxidising agent in

A. Neutral medium

B. Acidic medium

C. Alkaline medium

D. Acidic and alkaline medium


https://dl.doubtnut.com/l/_9AgbBVotv33D
https://dl.doubtnut.com/l/_LVA7Y6ZelOMp

Answer: D

° Watch Video Solution

6. Hydrogen peroxide is a powerful oxidising agent, both

in the acidic and alkaline medium.
In acidic medium: H,Oy + 2H® + 2¢® — 2H,0
€]
In alkaline medium: H2Os + 2¢® — 20H
Hydrogen peroxide acts as a reducing agent towards
powerful oxidising agents.
In acidic medium: HyOy — 2H® + 05 +2¢® In
alkaline medium, however, its reducing nature is more

effective.

HOy — 2H © —|—02—|—266


https://dl.doubtnut.com/l/_LVA7Y6ZelOMp
https://dl.doubtnut.com/l/_CDY5x2BBttH7

In which of the following reactions, HyO, act as a

reducing agent?

PbO,(s) + Hy05(aq) — PbO(s) + HyO(1) 4+ Os(g)

NasS03(aq) + HyO5(aq) — NaSO4(aq) + HyO(1)

C.2KI(aq) + H305(q) — 2KOH (q) + I,(s)

KNOz(O,Q) + HQOQ(CLQ) — KNOg(CLQ) + HQO(Z)

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_CDY5x2BBttH7
https://dl.doubtnut.com/l/_YCfEaJSYmXps

7. When hydrogen peroxide is added to acidified
potassium dichromate, a blue colour is produced due to

formation of :

A. C’l"03
B. C’I"zOg
C. C’I"O5

D. C’I‘Oi_

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_YCfEaJSYmXps

8.0n shaking H,O5 with acidified potassium dichromate

and ether, etheral layer becomes

A. Green

B. Red

C.Blue

D. Black

Answer: C

o Watch Video Solution

9. HC is added to following oxides. Which one would

give HyO, ?


https://dl.doubtnut.com/l/_AXR5MV92gh6E
https://dl.doubtnut.com/l/_QhCnqqOIvb1Q

A. M’I’LOg

B. PbO,

C. BaO

D. None of these

Answer: D

o Watch Video Solution

10. The oxide that gives Hy0O5 on treatment with a dilute

acid is

A. PbO,

B. Na202


https://dl.doubtnut.com/l/_QhCnqqOIvb1Q
https://dl.doubtnut.com/l/_VXvrCUEfbJFf

C. M’I’LOg

D. T30,

Answer: B

o Watch Video Solution

11. Nitrates of all metals are

A. Soluble in water

B. Insoluble

C. Coloured

D. Unstable


https://dl.doubtnut.com/l/_VXvrCUEfbJFf
https://dl.doubtnut.com/l/_RVH9oOauo9XA

Answer: A

° Watch Video Solution

12. H,0O, used in rockets has the concentration

A. 50 %

B. 70 %

C.30 %

D.90 %

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RVH9oOauo9XA
https://dl.doubtnut.com/l/_gcSW7zrBa3v6
https://dl.doubtnut.com/l/_fspSQSF4DRMn

13. H202 is

A. Poor polar solvent than water

B. Better polar solvent than H,O

C. Both have equal polarity

D. Better polar solvent but its strong auto oxidising

ability limits its use as such

Answer: d

° Watch Video Solution

14. The dihedral angle in gaseous H,0, is


https://dl.doubtnut.com/l/_fspSQSF4DRMn
https://dl.doubtnut.com/l/_mW7tNgvTmhin

A.180°

B.90°

C.111.5°

D.109° — 28

Answer: c

o Watch Video Solution

5. O—-—O—H bond angle

approximately .

A.107.28°

B.109.28°

in

H50,

is


https://dl.doubtnut.com/l/_mW7tNgvTmhin
https://dl.doubtnut.com/l/_rC4ix9jNySQL

C.104.5°

D.97°

Answer: d

o Watch Video Solution

16. Which substance does not speed up to

decomposition of HyO5 ?

A. Glycerol

B. Pt

C. Gold

D. M’I’L02


https://dl.doubtnut.com/l/_rC4ix9jNySQL
https://dl.doubtnut.com/l/_nvpadliyzC4b

Answer: a

° Watch Video Solution

17. The amount of Hy05y present in 1L of 1.5NH,0,

solution is

A.2.5g

B. 25.5g

C.3.0g

D. 8.0g

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_nvpadliyzC4b
https://dl.doubtnut.com/l/_bXm9IalIdqgm

18. The decomposition of H;05 can be checked by

addition of

A. alkali metal oxides

B. benzene

C. acetanilide

D. M’nOg

Answer: C

° Watch Video Solution

19. Equivalent weight of HyO, is


https://dl.doubtnut.com/l/_bXm9IalIdqgm
https://dl.doubtnut.com/l/_E5k6RvfjO5Op
https://dl.doubtnut.com/l/_y04kw5BeaO7u

A 17

B.34

C. 68

D. 18

Answer: A

o Watch Video Solution

20. A dilute solution of H50, is labelled as 20 volume .

Its percentage strength is :

A 10 %

B.6.070 %


https://dl.doubtnut.com/l/_y04kw5BeaO7u
https://dl.doubtnut.com/l/_tl4QqzLlfLm7

C.30 %

D.3 %

Answer: b

o Watch Video Solution

21. The volume of oxygen liberated from 15ml of 20

volume H50, is

A. 250ml

B. 300ml!

C. 150ml

D. 200m!


https://dl.doubtnut.com/l/_tl4QqzLlfLm7
https://dl.doubtnut.com/l/_XHPMDkwzW1z1

Answer: B

° Watch Video Solution

22. H,0O, is used as :

A. antiseptic

B. bleaching agent

C. propellant

D. all

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_XHPMDkwzW1z1
https://dl.doubtnut.com/l/_1JMYSeDERgTx
https://dl.doubtnut.com/l/_9PT3aqTHlpB8

23. The reaction of HyS+ H,Oy — S+ 2H50

manifests

A. Acidic nature of H,O,

B. Alkaline nature of H,O,

C. Oxidising nature of H,0,

D. Reduciing action of H50,

Answer: c

o Watch Video Solution

24. Hydrogen peroxide is now generally prepared on

industrial scale by the


https://dl.doubtnut.com/l/_9PT3aqTHlpB8
https://dl.doubtnut.com/l/_kXLI6uMGS3dO

A. action of H,50, on barium peroxide

B. action of H,50, on sodium perioxide

C. electrolysis of 50 % H5S50,

D. burning hydrogen in excess of oxygen

Answer: C

° Watch Video Solution

25. The oxide that gives HyO5 on treatment with a dilute

acid is

A. M’I’LOg

B. PbO,


https://dl.doubtnut.com/l/_kXLI6uMGS3dO
https://dl.doubtnut.com/l/_R2hLrL5ncqLw

C. Na202

D. T30,

Answer: c

o Watch Video Solution

26. H, Oy is always stored in black bottles because

A. It is highly unstable

B. Its enthalpy of decomposition is high

C. It undergo autoxidation on prolonged standing

D. None of these


https://dl.doubtnut.com/l/_R2hLrL5ncqLw
https://dl.doubtnut.com/l/_l4spXXfTa5bc

Answer: C

° Watch Video Solution

27.H202 —2H " + 02 + 2e ", E° = —0.68V.
This equation represents which of the following
behaviour of H,0,

A.Reducing

B. Oxidising

C. Acidic

D. Catalytic

Answer: a

| = |


https://dl.doubtnut.com/l/_l4spXXfTa5bc
https://dl.doubtnut.com/l/_GaeYVECMf3sa

l & Watch Video Solution

28.In lab H,0, is prepared by

A.Cold H,504 + BaO,

B. HCl + BaO,

C.Conc. H,50,4 4+ Nas0,

D. Hy + O,

Answer: a

° Watch Video Solution

29. The structure of HyO, is


https://dl.doubtnut.com/l/_GaeYVECMf3sa
https://dl.doubtnut.com/l/_kebAVqolvFdQ
https://dl.doubtnut.com/l/_79alf0tBZt5H

A. planar

B.non — planar

C. spherical

D. linear

Answer: B

o Watch Video Solution

30.There is a smaple of 10 volume of hydrogen peroxide

solution . Calculate its strength.

A. 3.00 %

B.4.045 %


https://dl.doubtnut.com/l/_79alf0tBZt5H
https://dl.doubtnut.com/l/_E3gO7rxtx1ip

C.2.509 %

D.3.035 %

Answer: D

o Watch Video Solution

31. Blackened oil painting can be restored into original

form by the action of

A. Cly

B. H202

C. M’I’LOg

D. PbO,


https://dl.doubtnut.com/l/_E3gO7rxtx1ip
https://dl.doubtnut.com/l/_1sfjraSyGJv5

Answer: b

° Watch Video Solution

32.In which of the following reaction hydrogen peroxide

is a reducing agent

A. 2F€Cl2 + 2CHI + H202 — 2F€Cl3 + 2H20

B. Clz + H202 — 2HCI + 02

C.2HI + H202 — 2H20 + I2

D. H2803 + H2O2 — H2SO4 + H2O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1sfjraSyGJv5
https://dl.doubtnut.com/l/_DOJVr4JPUbTg

33. Commercial 11.2 volume H;0, solution has a

molarity of

A. 1.0

B.0.5

C.11.2

D.1.12

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DOJVr4JPUbTg
https://dl.doubtnut.com/l/_fL3MORp9w63G

34. Which of the following undergoes reduction with

H50, in an alkaline medium ?

A Mn2™t

B. HOC!

C. PbS

D. Fe?t

Answer: b

° Watch Video Solution

35.In the reaction.

HzS + H202 — S+ 2H20


https://dl.doubtnut.com/l/_uPaQdr7KP0gA
https://dl.doubtnut.com/l/_ZSbCXpbzVWJw

A. H,S is an and H,0, is a base

B. H,S is a base and H,0O, is an acid

C. H,S is an oxidizing agent and H50, is a reducing

agent

D. H,S is a reducing agent and H50, is an oxidising

agent

Answer: D

° Watch Video Solution

36. In the reaction,
2FeSO4 + HySO4 + HyOy — Fey(SO04) 5 + 2H,0

The oxidising agent is


https://dl.doubtnut.com/l/_ZSbCXpbzVWJw
https://dl.doubtnut.com/l/_m24woXUPVfvd

A. FeSO,
B. H,SO,
C. H,0,

D. both () and (¢)

Answer: C

o Watch Video Solution

37. in alkaline medium, H,O, reacts with Fe3' and

Mn° ™" respectively to give :

A Fett ,and Mn*t

B. Fe?t and Mn2™*


https://dl.doubtnut.com/l/_m24woXUPVfvd
https://dl.doubtnut.com/l/_vI56jqUwRKUs

C. Fe?t and Mn*t

D. Fe*t and Mn?™

Answer: c

o Watch Video Solution

38. H,O, can be obtained when following reacts with

H,;50, excepts with

A. PbO,

B. Ba02

C. Na202

D. ST02


https://dl.doubtnut.com/l/_vI56jqUwRKUs
https://dl.doubtnut.com/l/_y2xFcKefyxQ1

Answer: a

° Watch Video Solution

39. H202 — H20 + 02

This represents

A. Oxidation of H,O,

B. Reduction of Hy0,

C. Disproportionation of HyO,

D. Acidic nature of H,0O,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_y2xFcKefyxQ1
https://dl.doubtnut.com/l/_KM4R6C5bMorV

40. Decomposition of HyO5 is accelerated by

A. Traces of acids
B. Acetanilide
C. Finely divided metals

D. Alcohol

Answer: C

o Watch Video Solution

41. H,0- is manufactured these days


https://dl.doubtnut.com/l/_KM4R6C5bMorV
https://dl.doubtnut.com/l/_KxyRlYq0qZeA
https://dl.doubtnut.com/l/_ywMBJ9xEHQiv

A. By the action of HyO5 on BaO,
B. By the action of H3SO4 on Nay0,
C. By electrolysis of 50 % H,S0,

D. By burning hydrogen in excess of oxygen

Answer: c

o Watch Video Solution

Section B Assertion Reasoning

1. Assertion : H, molecule is more stable than He — H

molecule .


https://dl.doubtnut.com/l/_ywMBJ9xEHQiv
https://dl.doubtnut.com/l/_EeZNQbYwlES0

Reason : The antibonding electron in He — H molecule

decreases the bond order thereby the stability.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_EeZNQbYwlES0

2. Assertion : H, exists in two isomeric forms known as
ortho and para forms
Reason : The ortho and para H, differ in the spin of

theire electron.

O Watch Video Solution

3. Assertion : HyOsis non — ionic compound.
Reason : The O — O bond length in HyO, is shorter

than that of Oy F5.

° Watch Video Solution



https://dl.doubtnut.com/l/_WG45omb0skoo
https://dl.doubtnut.com/l/_0nkJ1dKlY5Pk

4. Assertion : HyO5 has higher boiling point than water
Reason : It has stronger dipole interaxtions than that

shown by water.

° Watch Video Solution

5. Assertion : The decomposition of HO, is a
disproportionation reaction.

Reason : 2H,05 — 2H,0 + O,.

° Watch Video Solution

6. Assertion : HyO, is used as a bleaching agent for

delicate materials like silk, wool ets.


https://dl.doubtnut.com/l/_lFYXiHHK28aN
https://dl.doubtnut.com/l/_w1777WoZI1l5
https://dl.doubtnut.com/l/_klYem87U3UwU

Reason : The bleaching action of Hs0O, is due to

reduction.

° Watch Video Solution

7. Assertion : Heavy water is widely used as a moderator
in nuclear reactors.
Reason : It slows doen the fast moving neutrons and

thus helps in controlling the nuclear reactions.

° Watch Video Solution

8. Assertion :H50, decomposes carbonates and

bicarbonates to evolve CO, gas.


https://dl.doubtnut.com/l/_klYem87U3UwU
https://dl.doubtnut.com/l/_ycokypRp3Vpm
https://dl.doubtnut.com/l/_edQhF7aJXh2U

Reason : Hy,COs is stronger acid than H5O,.

° Watch Video Solution

9. Assertion : Demineralised water does not contain any
ions.
Reason : Permutit process for water softening gives

demineralised water.

O Watch Video Solution

10. Assertion : Reaction between protium and chloride is
much faster than between deuterium and chlorine.

Reason : Enthalpy of dissociation of Dy is less than H,.

| & S ]


https://dl.doubtnut.com/l/_edQhF7aJXh2U
https://dl.doubtnut.com/l/_OAB3MpBW7BFj
https://dl.doubtnut.com/l/_izb7Qn40bjai

[ W Watch Video Solution ]

1. Assertion : Hy gas is liberated at anode because.

Reason : Sodium hydride contains H ™ ion.

° Watch Video Solution

12. Assertion : lonic hydrides like hydrolith liberates
hydrogen gas on reaction with water.

Reason : The resultant soution acts as strong base.

o Watch Video Solution



https://dl.doubtnut.com/l/_izb7Qn40bjai
https://dl.doubtnut.com/l/_7V2iRrG1tQ3X
https://dl.doubtnut.com/l/_pjlwaPYB0bZt

13. Assertion : The water gas shift reaction can be used
to increase the amount of H, in the shift * syn gas ’

mixture.

Reason : In this reaction, water is reduced to H, by CO.

° Watch Video Solution

14. Assertion N Hj is an electron precise hydride.
Reason : NHjs has one loone pair of electrons on N

atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_43RDxxaIp6ba
https://dl.doubtnut.com/l/_xhHgZt0JAfXs

15. Assertion : Calgon is used in manufacture of soft
water being used for laundry purpose.

Reason :Ca’t and Mg?" ions present in hard water
are rendered ineffective by calgon forming their soluble

complexes.

o Watch Video Solution

16. Assertion : D50 has higher boiling point than H5O.

Reason : Viscosity of H,O(1) is less than that of D,O(l)

o Watch Video Solution



https://dl.doubtnut.com/l/_ohlINrgHO2cx
https://dl.doubtnut.com/l/_Hgmg50fyU8BD

Aipmt Neet Questions

1. At its melting point ice is lighter than water because

A. H,O molecules are more closely packed in solide

state

B. Ice crystals have hollow hexagonal arrangement of

H>0O molecules

C. On melting of ice the H,0O molecule shrinks in size

D. Ice forms mostly heavy water on first melting

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3SiZtSvOGNLe

2. The pair that yields the same gaseous product on

reaction with water :

A. K and K02

B.Ca and CaH,

C. Na and Na,O,

D. Ba and BaO,

Answer: b

o Watch Video Solution

3. The dielectric constant of H,0O5 is 80. The electrostatic

force of attraction between Na™ and Cl~ will be


https://dl.doubtnut.com/l/_Yk2C6cddEqfN
https://dl.doubtnut.com/l/_5qYKvdiqo9cr

A.reduced to 1/80 in water than in air
B. reducted to 1/40 in water than in air
C.will be increased to 80 in water than in air

D. will remain unchanged.

Answer: A

° Watch Video Solution

4, O—-0O—-—H bond angle in HyOy is

A.106°

B.109° 28’


https://dl.doubtnut.com/l/_5qYKvdiqo9cr
https://dl.doubtnut.com/l/_8vgCzBKUq8BE

C.120°

D.97°

Answer: D

o Watch Video Solution

5. Which of the following grouups of ioins makes the

water hard ?

A. Sodium and bicarbonate

B. Magnesium and chloride

C. Potassium and sulphate

D. Ammonium and chloride


https://dl.doubtnut.com/l/_8vgCzBKUq8BE
https://dl.doubtnut.com/l/_Pzf92hgCO5YT

Answer: B

° Watch Video Solution

6. The volume strength of 1.5N H,O, solution is

A.4.8L

B.5.2L

C.8.4L

D.8.8L

Answer: c

° Watch Video Solution



https://dl.doubtnut.com/l/_Pzf92hgCO5YT
https://dl.doubtnut.com/l/_9y6QZmqOzuJG
https://dl.doubtnut.com/l/_fcz0CiQ9NEGJ

7.The hydride ion H ° is a stronger base than hydroxide
ion. Which of the following reaction would occur if NaH

is dissolved in water

A.H " (aq) + H,O(l) — OH ~ (aq) + 2H,(g)

B. H (aq) + HyO(l) — H30 ™ (aq)

H~ (aq) + H,O(l) — OH ~(aq) + 2H * (aq) + 2e~

D. H  (aq) + HyO(l) — No reaction

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fcz0CiQ9NEGJ

8. Which of the following pair of substances will not
evolve Hy gas

A.lron and H3SO4( aqueous)

B. Iron and steam

C. Sodium and ethyl alcohol

D. Copper and HC( aqueous )

Answer: d

° Watch Video Solution

9. When a substance A reacts with water it produces a

conbustible gas B and a solution of substance C in


https://dl.doubtnut.com/l/_Q4RpMCqAfqf6
https://dl.doubtnut.com/l/_TivotJrybLPj

water. When another substance D reacts with this
soution of C, it also produces the same gas B on
warming but D can produce B on reaction with dilute
sulphuric acid at room temperature. B on reaction with
dilute sulphuric acid at room tempreture. A imparts a
golden yellow colour to a smokeless flame of bunsen

flame. A, B, C'and D are respectively.

A K, H,, KOH, Al
B. Na, Hy, NaOH, Zn
C.Ca, hy, Ca(OH),, Sn

D. CG,CQ, CQHQ, CCL(OH)2, Fe

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_TivotJrybLPj

10. When H,0, is oxidesed, the product is

A.OH
B. O,
C.0*"

D. HO,

Answer: b

° Watch Video Solution

11. Pure water can be obtained from sea water by


https://dl.doubtnut.com/l/_TivotJrybLPj
https://dl.doubtnut.com/l/_cMOF6mToLO13
https://dl.doubtnut.com/l/_Mz1BJH1FfV0V

A. Centrifugation

B. Plasmolysis

C. Sedimentation

D. Reverse osmosis

Answer: D

° Watch Video Solution

12. Whivh statement about zeolite is false ?

A. They are used as cation exchanger

B. They have open structure which enables them to

take up small molecules


https://dl.doubtnut.com/l/_Mz1BJH1FfV0V
https://dl.doubtnut.com/l/_SPZD2nZl5DSp

C.Zeolites are alumino silicates having three
dimensional networks
D. Some of the Sz'Oj_ units are replaced by AlOi_

and AlOg_ ions in zeolites

Answer: d

° Watch Video Solution

13. Some statements about heavy water are given below

(i) Heavy water is used as a moderator in nuclear

reactors

(47) Heavy water is more associated than ordinary water.


https://dl.doubtnut.com/l/_SPZD2nZl5DSp
https://dl.doubtnut.com/l/_8fHCRoTSnff1

(#41) Heavy water is more effective solvent than ordinary
water
Which of the above statments are correct ?

A. (i) and (1)

B. (), (¢¢) and (7i1)

C. (42) and (447)

D. () and (4i%)

Answer: a

° Watch Video Solution

14. Role of hydrogen peroxide iin the following reaction

is respectively.


https://dl.doubtnut.com/l/_8fHCRoTSnff1
https://dl.doubtnut.com/l/_SrXEuYJm4Wm8

(’L) H202 + 03 — HQO + 202
A. oxidizinig in () and reducing in (%)
B. reducing in (2) and oxidizing in (47)
C. reducing in (4) and (1)

D. oxidizing in (7) and (%)

Answer: d

0 Watch Video Solution

15. Which of the following statements about hydrogen is

incorrect ?


https://dl.doubtnut.com/l/_SrXEuYJm4Wm8
https://dl.doubtnut.com/l/_ZOQ07c5YTupN

A. Dihydrogen does not act as a reducing agent.

B. Hydrogen has three isotopes of which tritium is
the most common.

C. Hydrogen never acts as cation in ionic salts.

D. Hydronium ion, H3O ™, exists freely in solution

Answer: a,b

° Watch Video Solution

1. Which of the following reaction produces hydrogen ?


https://dl.doubtnut.com/l/_ZOQ07c5YTupN
https://dl.doubtnut.com/l/_nNBraXZxV3jG

B. BCLOz + HCI

C. H,S,05 + H,O

D. Nasoy, + 2hcL

Answer: a

o Watch Video Solution

2. Ortho and para hydrogen differn in

A. proton spin

B. Electron spin

C. Nuclear charge


https://dl.doubtnut.com/l/_nNBraXZxV3jG
https://dl.doubtnut.com/l/_LD4EnAPsUiOi

D. Nuclear reaction

Answer: A

° Watch Video Solution

3. Hydrogen can be fused to form helium at

A. High temperature and high pressure

B. high temperature and low pressure

C. low temperature and high pressure

D. low temperature and low pressure

Answer: a

I o Wiakl . \nNdaa Caliidkiam


https://dl.doubtnut.com/l/_LD4EnAPsUiOi
https://dl.doubtnut.com/l/_Zkknwp6LghiX

L —  VYvdlilll VIUCV JViIuLivii J

4. Chemical (X) is used for water softening to remove
temporary hardness. (X) reacts with sodium carbonate
to generate caustic soda. When CO, is bubbled through
(X)?

A. CGCOg

B.CaO

C.Ca(OH),

D. CG(HCO3)2

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_Zkknwp6LghiX
https://dl.doubtnut.com/l/_YZLYFlgUjbes

5. Which of the following is correct for hydrogen?

A. It can form bonds in +1 as well as — 1 oxidation

state

B. It is always collected at cathode

C. It has a very high ionization potential

D. It has same electronegativity as halogens

Answer: A

o Watch Video Solution

6. By adding which of the following process, permanent

hardness of water can be removed.


https://dl.doubtnut.com/l/_dvt6g13K4gQm
https://dl.doubtnut.com/l/_OgNyFhmg2INU

A.soda lime

B. Sodium bicarbonate

C. Washing soda

D. Sodium chloride

Answer: C

o Watch Video Solution

7.The H — O — H angle in water molecule is about

A.90°

B.180°

C.102°


https://dl.doubtnut.com/l/_OgNyFhmg2INU
https://dl.doubtnut.com/l/_XniGtwQuOmOE

D. 105°

Answer: D

° Watch Video Solution

8. Two ice cubes are pressed over each other and unite

to form one cube . Which force is responsible of holding

them together ?

A. Hydrogen bond formation

B. Van der Waals forces

C. Covalent attraction

D. lonic interaction


https://dl.doubtnut.com/l/_XniGtwQuOmOE
https://dl.doubtnut.com/l/_DyEIyFfxq8Wk

Answer: A

° Watch Video Solution

9. Triple point of water is

A 273K

B. 373K

C. 203K

D. 193K

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_DyEIyFfxq8Wk
https://dl.doubtnut.com/l/_hK1laAwF3WPR

Assertion Reasoning Questions

1. Assertion : Nascent hydrogen is more reactive than

molecular hydrogen.

Reason : Nascent hydrogen is associated with more

energy

A.if both the assertion and reason are true and

reason is true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of assertion.

C.If the assertion is true but reason is false.

D. If assertion if false but reason is true.


https://dl.doubtnut.com/l/_QDTbihJxcmLS

Answer: a

o Watch Video Solution

2. Assertion (A): Alkali metals can form ionic hydrides
which contain hydride ion, H.
Reason (R ): The alkali metals have low EN. Their hydrides
conduct electricity, when fused and liberate hydrogen at
the anode.
A.if both the assertion and reason are true and
reason is true explanation of the assertion.

B. If both the assertion and reason are true but the

reason is not the correct explanation of assertion.


https://dl.doubtnut.com/l/_QDTbihJxcmLS
https://dl.doubtnut.com/l/_FsC5I0IRH76L

C. If the assertion is true but reason is false.

D. If assertion if false but reason is true.

Answer: a

° Watch Video Solution

3. Assertion : Among H, , He, He ", He*t, H, has
the largest their parent atoms.
A.if both the assertion and reason are true and
reason is true explanation of the assertion.
B. If both the assertion and reason are true but the

reason is not the correct explanation of assertion.


https://dl.doubtnut.com/l/_FsC5I0IRH76L
https://dl.doubtnut.com/l/_EHZyWRar2R2T

C. If the assertion is true but reason is false.

D. If assertion if false but reason is true.

Answer: a

o View Text Solution

Section D Chapter End Test

1. Polyphosphates are used for softening agents because

they

A. form soluble complexes anionic species

B. precipitate anionic species


https://dl.doubtnut.com/l/_EHZyWRar2R2T
https://dl.doubtnut.com/l/_xSvuq4521bf0

C. form soluble complexes with cationic species

D. precipitate cationic species

Answer: c

o Watch Video Solution

2.The critical temperature of water is higher than that of

O, because the H,O molecule has

A. fewer electrons than oxygen

B. two covalent bonds

C.V — shape

D. dipole moment


https://dl.doubtnut.com/l/_xSvuq4521bf0
https://dl.doubtnut.com/l/_1JKlNHlnYrzs

Answer: d

° Watch Video Solution

3. One mole of calciium phosphide on reaction with

excess water gives

A. One mole of phosphene

B. Two moles of phosphene

C. Two moles of phosphene

D. One mole of phosphene pentoxide

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1JKlNHlnYrzs
https://dl.doubtnut.com/l/_iKTfjsWnz4jO

4. When zeolite, which is hydrated sodium aluminate
silicate, is treated with hard water, the sodium ions are

exchanged with:

A. H "ions

B.Ca’®" ions

D.Both Ca?" and Mg?™"

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iKTfjsWnz4jO
https://dl.doubtnut.com/l/_XcrDtAekbtAk

5. Pick the odd one out

A. Sodium borohydride reacts very slowly with cold
water

B. Sodium borohydride reacts very violently with cold
water to produce H,

C. Solubility of sodium borohydride in water at 25°C
is 10.59 /mL

D. Melting point of sodium borohydride is 500° C

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_ktlcADhLSX6J
https://dl.doubtnut.com/l/_ZbERh9Laz6NZ

6. Hydrogen gas will not reduce:

A. Heated cupric oxide

B. Heated ferric oxide

C. Heated stannic oxide

D. Heated aluminium oxide.

Answer: D

o Watch Video Solution

7. HC! is added to following oxides. Which one would

give H202 ?

A. M’I’LOQ


https://dl.doubtnut.com/l/_ZbERh9Laz6NZ
https://dl.doubtnut.com/l/_fSLYSGP4Fj3O

B. PbO,

C. BaO

D. None of these

Answer: d

o Watch Video Solution

8. Which of the following pairs will not produce
dihydrogen gas ?

A.Cu + HCI(dil)

B. Fe + H2SO4

C. Mg+ steam


https://dl.doubtnut.com/l/_fSLYSGP4Fj3O
https://dl.doubtnut.com/l/_ebq70B3HPq0g

D. Na + alcohol

Answer: A

° Watch Video Solution

9. The amount of H50O5 present in 1L of 1.5NH,0,

solution is

A. 2.5g

B. 25.5¢g

C.3.0g

D. 8.0g

Answer: b


https://dl.doubtnut.com/l/_ebq70B3HPq0g
https://dl.doubtnut.com/l/_vOshjsXXbjSY

° Watch Video Solution

10. Hydrogen is evolved the action of cold dilute HNO;

on :

A. Fe

B. Mn

C.Cu

D. Al

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_vOshjsXXbjSY
https://dl.doubtnut.com/l/_r6pjnomNSib5

11. Hydrogen can behave as a metal

A. At very high temperature

B. At very low temperature

C. At very high pressure

D. At very low pressure

Answer: C

° Watch Video Solution

12. D50 is preferred to H50O, as a moderator, in nuclear

reactors because


https://dl.doubtnut.com/l/_SFS1F7NACYIi
https://dl.doubtnut.com/l/_i06EjRkCK06N

A. D50 slow down fast neutrons better

B. DO has high specific heat

C. D50 is cheaper

D. None of these

Answer: d

° Watch Video Solution

13. Out of the two allotropic forms of dihydrogen, the

form with lesser molecular energy is

A. Ortho

B. Meta


https://dl.doubtnut.com/l/_i06EjRkCK06N
https://dl.doubtnut.com/l/_48jZQ4aqCIXL

C. Para

D. All have same energy

Answer: c

o Watch Video Solution

14. Saline hydrides react explosively with water, such fires

can be extinguished by

A. Water

B. Carbon dioxide

C.Sand

D. None of these


https://dl.doubtnut.com/l/_48jZQ4aqCIXL
https://dl.doubtnut.com/l/_ehpMJt7dR5IM

Answer: c

° Watch Video Solution

15. When temporary hard water containing Mg(HCOs),

is boiled, the ppt. formed is of

A. MgCOg
B. MgO
C. Mg(OH),

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ehpMJt7dR5IM
https://dl.doubtnut.com/l/_cvWn5IacCzey

16. Permanent hardness due to Mg?" ions is best

removed by

A.Ca(OH),
B. NGQCOg
C. Na2003 + Ca(OH)2

D. None of these

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_cvWn5IacCzey
https://dl.doubtnut.com/l/_BEtOdsrE65FY

17. Plumbosolvency is a health hazard

transporatatino of

A. Hard water only
B. Soft water only
C. both (a) and (b)

D. Water containing plum juice

Answer: B

the

o Watch Video Solution

18. Hardness producing salt, whose solubility in water

decreases with rise of temperature is


https://dl.doubtnut.com/l/_YQBdp2yUsd1e
https://dl.doubtnut.com/l/_Nu7TiFfsxE2H

A. CaCl2
B. CaSO,
C. CCL(HCOg)z

D. MgSO4

Answer: B

° Watch Video Solution

19. A sample of water containing some dissolved table
sugar and common salt is passed through organic ion

exchange resins. The resulting water will be

A. Tasteless


https://dl.doubtnut.com/l/_Nu7TiFfsxE2H
https://dl.doubtnut.com/l/_FE6SjPcPbGzU

B. Sweet

C. Salty

D. None of these

Answer: B

° Watch Video Solution

20. Water obtained by purification with organic ion

exchange resins is

A. Pure water

o+ ,Mg>*t

B. Free from only Ca ions

C.Free from HCO; SOi_ and Cl~ ions only


https://dl.doubtnut.com/l/_FE6SjPcPbGzU
https://dl.doubtnut.com/l/_3zZWhyNpfYQ0

D. None of these

Answer: d

° Watch Video Solution

21. Hydrogen can be fused to form helium at

A. High temperature and high pressure
B. high temperature and low pressure
C. low temperature and high pressure

D. low temperature and low pressure

Answer: A

I o Wiakl . \nNdaa CaAliidkiam


https://dl.doubtnut.com/l/_3zZWhyNpfYQ0
https://dl.doubtnut.com/l/_guEjeiLIxDqt
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22.There is a smaple of 10 volume of hydrogen peroxide

solution . Calculate its strength.

A 1%

B.3%

C.10 %

D.90 %

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_guEjeiLIxDqt
https://dl.doubtnut.com/l/_GecJEOSyqCHv

23. Lead pipes are not used for carrying drinking water

because

A. They are covered with a coating of lead carbonate

B. They are corroded by air and moisture

C. Water containing dissolved air attacks lead

forming soluble hydroxide

D. None of these

Answer: c

° Watch Video Solution

24. Hardness of water is due to presence of salts of


https://dl.doubtnut.com/l/_3AA4FKSbsPBg
https://dl.doubtnut.com/l/_xS2HiVzbE38Y

A.Na" and K+
B.Ca®"and Mg**
C.Ca’t and K™

D.Ca’t and Na™t

Answer: b

o Watch Video Solution

25.There is a smaple of 10 volume of hydrogen peroxide

solution . Calculate its strength.

A.3.00 %

B.4.045 %


https://dl.doubtnut.com/l/_xS2HiVzbE38Y
https://dl.doubtnut.com/l/_6XffUE7JK4xT

C.2.509 %

D.3.035 %

Answer: d

o Watch Video Solution

26. A dilute solution of H,0, is labelled as 20 volume .

Its percentage strength is :

A. 30 %

B.6 %

C.3%

D.10 %


https://dl.doubtnut.com/l/_6XffUE7JK4xT
https://dl.doubtnut.com/l/_9wK1T6AXKoDm

Answer: b

° Watch Video Solution

27. The volume of oxygen liberated from 0.68g of H,O,

is

A. 112ml

B. 224ml

C. 56ml

D. 336ml

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_9wK1T6AXKoDm
https://dl.doubtnut.com/l/_9y9d59zBjpDN

28. Assertion : Calgon is used in manufacture of soft
water being used for laundry purpose.
Reason :Ca®?t and Mg®" ions present in hard water
are rendered ineffective by calgon forming their soluble
complexes.
A.If both assertion and reason are true and the
reason is the correct explanation of the assertion.
B. If both assertion and reason are true but reason is
not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion if false but reason is true.


https://dl.doubtnut.com/l/_9y9d59zBjpDN
https://dl.doubtnut.com/l/_Krcp2ACD7ePB

Answer: d

° Watch Video Solution

29. Assertion : The decomposition of HsOy is a

disproportionation reaction.

Reason : 2H,09 — 2H50 + O,.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.

D. If assertion if false but reason is true.


https://dl.doubtnut.com/l/_Krcp2ACD7ePB
https://dl.doubtnut.com/l/_IcvlFPQ9gevx

Answer: a

° Watch Video Solution

30. Assertion : Hydrogen peroxide forms only one series

of salts called peroxides.

Reason : Hydrogen peroxide molecule has two

replaceable hydrogen atom.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of the assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_IcvlFPQ9gevx
https://dl.doubtnut.com/l/_dor5IwiXfrHD

D. If assertion if false but reason is true.

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_dor5IwiXfrHD

